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Note : (i) Attempt Section A and Section B. 

Section A carries 40 marks and 

Section B carries 60 marks. 

 (ii) All questions carry equal marks. 
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Section—A 

Note : Answer any two of the following 

questions. 

1. Define Management Accounting and briefly 

describe its objectives. What are the roles 

performed by Management Accounting in an 

organization ? 10+10  

2. (a) What do you mean by cost reduction ? 

Discuss in detail the advantages and 

limitations of cost reduction.  3+7 

(b) Explain the meaning of cash budget. 

How is it prepared ? Discuss its 

practical importance. 3+3+4 
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3. Write short notes on any four of the 

following :  4×5=20 

(a) Differentiated pricing 

(b) Angle of Incidence 

(c) Human Resource Accounting 

(d) Master Budget 

(e) Cost Accounting 

(f) Capacity Ratio 

Section—B 

Note : Answer any three of the following 

questions. 

4. (a) What are the financial statements ? 

How far are they useful for decision-

making purposes ? 5+10 
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(b) Explain capital gearing ratio and 

operating ratio. 5 

5. (a) Define Budgeting and Budgetary  

control. State the objectives of 

Budgeting. 4+6  

(b) Following data are related with Sanjay 

Ltd. :  10 

Year 
Sales 

(`) 

Profit 

(`) 

2022 50,000 2,500 

2023 45,000 1,000 

Calculate the following : 

(i) P/V ratio 

(ii) Fixed costs 

(iii) Variable costs during the two years 

(iv) Margin of safety at a profit of  

` 4,000 
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6. (a) What is Standard Costing ? State the 

objectives of Standard Costing. 3+7 

(b) From the following data, calculate 

material variances : 10 

Standard ` 

Material X : 60 kgs. @ ` 6 per kg  360 

Material Y : 40 kgs. @ ` 4 per kg 160 

 520 

Standard output is 80% of input i.e., 80 

units. Process loss is 20%. 

Actual ` 

Material X : 40 kgs. @ ` 4 per kg 160 

Material Y : 70 kgs. @ ` 6 per kg  420 

 580 

Actual output is 70% of input i.e., 77 

units. Process loss is 30%. 
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7. (a) Under what conditions, the income 

statement prepared under full costing 

or absorption costing and marginal 

costing will give similar results ? 10 

(b) What is Balance Sheet ? Explain its 

importance and limitations. 3+7 

8. (a) Explain ‘how the choice’ of the 

responsibility center type (cost revenue, 

profit or investment) affects budgeting 

and performance reporting.  10 

(b) Elucidate the steps followed in Target 

Costing. 10 
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 BCOE–142 

okf.kT; esa Lukrd (lkekU;)  

[ch- dkWe- (th-)] 

l=kar ijh{kk  

twu] 2025 

ch-lh-vks-bZ-&142 % izcU/k ys[kkadu 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) [k.M ^v* rFkk [k.M ^c* nksuksa dhft,A [k.M ^v* 

40 vad dk gS vkSj [k.M ^c* 60 vad dk gSA  

 (ii) lHkh iz'uksa ds vad leku gSaA 
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[k.M&v 

uksV % fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj nhft,A 

1- izca/k ys[kkadu dks ifjHkkf"kr dhft, rFkk blds mís';ksa dk 

la{ksi esa o.kZu dhft,A fdlh laxBu esa izca/k ys[kkadu 

}kjk fuHkkbZ tkus okyh Hkwfedk,¡ D;k gSa \ 10+10 

2- (v) ykxr esa deh ls vkidk D;k rkRi;Z gS \ ykxr esa 

deh ds ykHkksa vkSj lhekvksa dh foLrkj ls ppkZ 

dhft,A  3+7 

(c) jksdM+ ctV dk vFkZ le>kb,A ;g dSls rS;kj fd;k 

tkrk gS \ blds O;kogkfjd egRo dks Li"V 

dhft,A  3+3+4 

3- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡  

fyf[k, %   4×5=20 

(v) foHksfnr ewY; fu/kkZj.k 
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(c) vkiru dks.k 

(l) ekuo lalk/ku ys[kkadu 

(n) ekLVj ctV 

(b) ykxr ys[kkadu  

(Q) {kerk vuqikr 

[k.M&c 

uksV % fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mÙkj nhft,A 

4- (v) foÙkh; fooj.k D;k gSa \ ;s fu.kZ;u ds fy, dgk¡ rd 

mi;ksxh gS \ 5+10 

(c) iw¡th feyku vuqikr vkSj lapkyu vuqikr dh 

O;k[;k dhft,A 5 

5- (v) ctV vkSj ctVjh fu;a=.k dh ifjHkk"kk  

nhft,A ctfVax ds mís';ksa dk mYys[k  

dhft,A  4+6 
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(c) fuEukafdr vk¡dM+s lat; fy- ls lEcfU/kr gSa % 10 

o"kZ 

fcØh 

(`) 

ykHk 

(`) 

2022 50,000 2,500 

2023 45,000 1,000 

fuEufyf[kr dh x.kuk dhft, % 

(i) ykHk@ek=k vuqikr 

(ii) fLFkj ykxrsa 

(iii) nks o"kks± dh ifjorZu'khy ykxr 

(iv) ` 4,000 ykHk ij lqj{kk lhek 

6- (v) ekud ykxr ys[kkadu ls D;k rkRi;Z gS \  

ekud ykxr ys[kkadu ds mís';ksa dk mYys[k 

dhft,A  3+7 
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(c) fuEufyf[kr vk¡dM+ksa ls lkexzh fopj.k dh x.kuk 

dhft, %  10 

izeki ` 

lkexzh X : 60 fdxzk- ` 6 izfr fdxzk- 

dh nj ls 360 

lkexzh Y : 40 fdxzk- ` 4 izfr fdxzk- 

dh nj ls 160 

 520 

izekfir mRiknu fofu;ksx dk 80% tks fd 80 

bdkb;k¡ gSaA izfØ;k gkfu 20% gSA 

okLrfod ` 

lkexzh X : 40 fdxzk- ` 4 izfr fdxzk- 

dh nj ls 160 

lkexzh Y : 70 fdxzk- ` 6 izfr fdxzk- 

dh nj ls 420 

 580 

okLrfod mRiknu fofu;ksx dk 70% tks fd 77 

bdkb;k¡ gSaA izfØ;k gkfu 30% gSA  
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7- (v) fdu ifjfLFkfr;ksa esa iw.kZ ykxr ys[kkadu ;k 

vo'kks"k.k ykxr ys[kkadu rFkk lhekUr ykxr 

ys[kkadu ds varxZr cuk, x, vk; fooj.k ,d&lk 

ifj.kke izLrqr djsaxs \ 10 

(c) fLFkfr fooj.k D;k gS \ blds egRo ,oa lhekvksa dh 

O;k[;k dhft,A 3+7 

8- (v) O;k[;k dhft, fd mÙkjnkf;Ro dsUnz ds izdkj dk 

pquko (ykxr vk;] ykHk ;k fuos'k) fdl  

izdkj ctfVax rFkk fu"iknu fjiks²Vx dks izHkkfor 

djrk gSA  10 

(c) y{; ykxr fu/kkZj.k esa viuk, x, pj.kksa dks Li"V 

dhft,A  10 

× × × × × 

 

 

 

 

 


